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“Q.No. 114 & 176, as per the question statement and facts given in the question, there are two possible answers for this question. Both answers have
been indicated in the answers sheet

* As per the question statement and facts given in the question, none of the options given is 100% correct. . the answer
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The genotypes of a Husband and Wife are 1"Band
TALL

Among the blood types of their children, how many
different genotypes and phenotypes are possible ?

(1) 4 genotypes; 3 phenotypes
(2) 4 genotypes; 4 phenotypes
(3) 3 genotypes; 3 phenotypes
(4) 3 genotypes; 4 phenotypes

Adult human RBCs are enucleate. Which of the
following statement(s) is/are most appropriate
explanation for this feature ?

(a)
(b)
©
()

They do notneed to reproduce
They are somatic cells
They do not metabolize

All their internal space is available for oxygen
transport

Options:

(M (@) (c)and(d)
(2) (b)and(c)

() Only(d)

4) Only(a)

An important characteristic that Hemichordates
share with Chordates is :

(1) pharynx with gill slits

(2)  pharynx without gill slits
(3)  absence of notochord

(4)  ventral tubular nerve cord

Good vision depends on adequate intake of carotene-
rich food.

Select the best option from the following statements.
(@)

Vitamin A derivatives are formed from
carotene.

(b)  The photopigments are embedded in the

membrane d1scs of the inner segment
Retinal is a denvatlve of Vitamin A.

©

(d)  Retinal is a light absorbing part of all the

visual photopigments.* ‘
Options:
(1) (a)and(c)
(2 (b),()and(d)
(3  (a)and(b)
‘@) (@) (and (d)

‘
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Zygotic meiosis is characteristic of :

(1)  Funaria

(2)  Chlamydomonas
(3)  Marchantia

(4)  Fucus

A decrease in blood pressure/volume will not cause
the release of :

(1)  Aldosterone
(2 ADH
(3) Renin

(4)  Atrial Natriuretic Factor

Lungs are made up of air-filled sacs, the alveoli. They
do not collapse even after forceful expiration,
because of :

(1)  Tidal Volume
(2
(3)
“)

Expiratory Reserve Volume
Residual Volume

Inspiratory Reserve Volume

Which one of the following statements is correct,
with reference to enzymes ?
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Coenzyme = Apoenzyme + Holoenzyme
Holoenzyme = Coenzyme + Co-factor

Apoenzyme = Holoenzyme + Coenzyme
Holoenzyme = Apoenzyme + Coenzyme

Mycorrhizae are the example of :
Antibiosis
Mutualism

" Fungistasis

Amensalism

Wthh of the followmg are not polymeric ?
@ -
@
3)
@)

Polysacchandes
Lipids
Nucleic acids

Proteins
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13.

14.

15.

Wliich among the following are the smallest living
cells, known without a definite cell wall, pathogenic
to plants as well as animals and can survive without

oxygen ?
* (1) Mycoplasma
(2)  Nostoc

(3)  Bacillus

(4)  Pseudomonas

Asymptote in a logistic growth curve is obtained
when:

‘@) K>N

(2 K<N
(3)  The value of ‘r" approaches zero
4 K=N

Plants which  produce characteristic
pneumatophores and show vivipary belong to:

(1)  Psammophytes
(2)  Hydrophytes
(3)  Mesophytes

(4)  Halophytes

Identify the wrong statement in context of
heartwood :

(1)  Itconducts water and minerals efficiently

(2) It comprises dead elements with highly
lignified walls

(3)  Organic compounds are deposited in it

(4)  TItis highly durable

With reference to factors affecting the rate of
photosynthesis, which of the following statements
is not correct ?

(1) G5 plants respond to higher temperatures
with enhanced photosynthesis while
C, plants have much lower temperature
optimum

(2) Tomato is a greenhouse crop which can be
grown in CO, - enriched atmosphere for
higher yield

(3)  Light saturation for CO, fixation occurs at
10% of full sunlight

Increasing atmospheric CO, concentration
up to 0.05% can enhance CO, fixation rate
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18.

19.

20.

21.
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Artificial selection to obtain cows yielding higher
milk output represents :

(1)  disruptive as it splits the population into two,
one yielding higher output and the other
lower output.

(2) stabilizing followed by disruptive as it
stabilizes the population to produce higher
yielding cows.

(3) stabilizing selection as it stabilizes this
character in the population.

(4) directional as it pushes the mean of the
character in one direction.

Which of the following represents order of ‘Horse’ ?
(1)  Caballus

(2) Ferus

(3)  Equidae

(4)  Perissodactyla

An example of colonial alga is :
(1)  Ulothrix

(2)  Spirogyra

(3)  Chlorella

4) Volvox

The DNA fragments separated on an agarose gel
can be visualised after staining with :

(1)  Aniline blue
(2)  Ethidium bromide
(3)  Bromophenol blue

. (4)  Acetocarmine

The hepatic portal vein drains blood to liver from :

(1) Kidneys
(2) Intestine
(3) Heart

(4)  Stomach

MALT constitutes about
lymphoid tissue in human body.

a 70%
@ 10%
@ 50%
@ 20%

percent of the
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22.  Which of the following is correctly matched for the

product produced by them ?
(1)  Penicillium notatum : Acetic acid
» (2)  Sacchromyces cerevisiae : Ethanol
(3)  Acetobacter aceti : Antibiotics
(4)  Methanobacterium : Lactic acid
23.  Select the correct route for the passage of sperms in
male frogs :
(1) Testes — Vasa efferentia — Bidder’s canal
— Ureter — Cloaca
(2) Testes — Vasa efferentia — Kidney —
Bidder's canal — Urinogenital duct —
Cloaca
(3) Testes — Bidder’s canal — Kidney — Vasa
efferentia - Urinogenital duct — Cloaca
(4) Testes — Vasa efferentia — Kidney —

Seminal Vesicle — Urinogenital duct —
Cloaca

24. A temporary endocrine gland in the human body
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Corpus luteum
Corpus allatum
Pineal gland
Corpus cardiacum

25. Homozygous purelines in cattle can be obtained

by:
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mating of individuals of different breed.
mating of individuals of different species.
mating of related individuals of same breed.

mating of unrelated individuals of same
breed.

26.  Which one from those given below is the period for
Mendel's hybridization experiments ?

(1)
)
v(3)
4)

1857 - 1869
1870 - 1877
1856 - 1863
1840 - 1850

27.  Which of the following cell organelles is responsible
for extracting energy from carbohydrates to form

ATP?

‘(1
()
(©)
@)

Chloroplast
Mitochondrion
Lysosome
Ribosome
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28.  The final proof for DNA as the genetic material came
from the experiments of :
+(1)  Avery, Mcleod and McCarty
(2)  Hargobind Khorana
(3)  Griffith
(4)  Hershey and Chase

O
@
*(3)
@

(1)
(2
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o (1)
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29.  Select the mismatch:

Salvinia - Heterosporous
Equisetum - Homosporous
Pinus - Dioecious
Cycas - Dioecious

30. Transplantation of tissues/organs fails often due
to non-acceptance by the patient’s body. Which type
of immune-response is responsible for such
rejections ?

Hormonal immune response
Physiological immune response
Autoimmune response

Cell - mediated immune response

31.  Which statement is wrong for Krebs’ cycle ?

During conversion of succinyl CoA to
succinic acid, a molecule of GTP is
synthesised

The cycle starts with condensation of acetyl
group (acetyl CoA) with pyruvic acid to yield
citric acid

There are three points in the cycle where
NAD™ isreduced to NADH+H™*

There is one point in the cycle where FAD *
is reduced to FADH,

32.  Which of the following statements is correct ?

The ascending limb of loop of Henle is
permeable to water.

The descending limb of loop of Henle is
permeable to electrolytes.

The ascending limb of loop of Henle is
impermeable to water.

The descending limb of loop of Henle is
impermeable to water.






